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22E(A)

SOCIAL STUDIES, Paper - 11
(English version)
Parts A and B
Time : 2%2 Hours Maximum Marks : 50

Instructions :

Answer the questions under Part-A on a separate answer book.

2. Write the answers to the questions under Part-B on the Question Paper itself
and attach it to the answer book of Part-A.

3.  Attach the given out-line Map of India with the answer book of Part-A.

Part-A
Time : 2 Hours Marks : 35

SECTION -1 5x2=10

NOTE: 1. Answer ANY FIVE questions, choosing atleast TWO from each
Group, A and B.

2. Each question carries 2 marks.

GROUP - A

1. What is the geometrical location of India ?
2. What are the parallel ranges of the Himalayas ?
3. Name the important forest based industries.

4. Name the most populous state in India.
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GROUP-B
5. What is meant by Mahalwari system ?
6. Explain the indicators of regional disparities.

7. How many categories of industries emerge when classified on the basis of
Output? What are they?

8.  Explain the concept of absolute and relative poverty.
ON -1I 4dx]=4

NOTE: 1. Answer ANY FOUR questions out of the following SIX

questions in one or two sentences each.

2. Each question carries ONE ﬁmk.
9. What is meant by drought ?
10. What is Livestock ?
11. Name the International Airports.
12. What is Human Development Index ?
13. What was the main objective of First Five Year Plan ?

14. Expand R.WP
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SECTION - III 4x4=16

NOTE: 1. Answer ANY FOUR questions, choosing TWO from each group.

15.

16.

17.

18.

19.

20.

21.

22,

2. Each question carries Four marks.

GROUP-A

What is a Sub-continent ? Explain how India can be called a sub-continent.

What are the sources of irrigation ? Distinguish between an Open well and
a Tube well.

What are the important mineral belts identified in the country ?

What is an industrial region ? What are the major industrial regions in India ?

GROUP - B
Explain various Economic systems.
Distinguish between fess-developed and developed economies.
Explain the significance of service sector in Indian economy.

What are the achievements and failures of Planning ?
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23. Mark the following places in the given outline Map of India.
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Group - A

1. Pulicat Lake

2.  Arabian Sea

3. Damodar Valley

4, National Highway-5

5. - Capital of Arunachal Pradesh
OR

Group - B

1. Shimla

2. River Kaveri

3. Nagarjuna Sagar project

4. Mumbai port

5. Railway line Vijayawada-Delhi.
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- 22E(B)
SOCIAL STUDIES, Paper - I1 |

(English version)
Parts A and B

Time : 22 Hours | ' Maximum Marks : 50

‘Part-B
Time : 30 minutes ' Marks : 15

Note: 1. Answer all the questions.
2. Each question carries /2 mark.

3. For questions from 1 to 10, answers are given under A, B, C and
D. Candidate must use the CAPITAL LETTERS while answering
the multiple choice questions.

4. Marks will not be awarded in case of any over-writing, re-writing
or erased answers.

5. Answer the following questions in the space provided and attach
it to the main answer book of Part-A.

1. Write the letter showing the correct answer in the brackets

provided against each question. 10x¥2 =5
1.' What is the capital of Nagaland ? ‘ Baishoesd
(A) Dispur |

(B) Karnataka
(C) Shillong
(D) Kohima

2. The river does not belong to the Hirmalayan group ? | [E—
(A) Indus 'l
(B) Ganga
(C) Brahmaputra
(D) Godavari
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The word “monsoon” is derived from ..............
(A) Greek word

(B) Arabic word

(C) Indian word

(D) Latin word

The state that has the largest number of Tea plantations is .......
(A) Tamil Nadu | '

(B) - West Bengal

(C) Assam

(D) Kerala

The most important buyer for Indian Iron ore is .......
(A) Germany

(B) Russia

(C) Japan

(D) Bangladesh .

Zamindari system was introduced by .......
(A) Dalhousie

 (B) William Bentinck

(C) Cornwallis
(D) Robert Clive

The literacy rate in India in 1991 WS ©.overreenn
(A) 52.2% '

(B) 53.2%

(C) 54.3%

(D) 53.6%

Green Revolution is closely associated with utilisation of .......
(A) New fertilizers

(B) New pesticides

(C) HYV proper management

(D) All the above
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IIL.

11
12.
13.
14.
15.

16.

17.

18.
19.

20.
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.......... ranks first when industrial growth js taken as an indicator.  [.ccess0]
(A) Karnataka b

(B) Bihar

(C) Maharashtra

(D) Uttar Pradesh

‘Self-reliance’ was the main objective of the ............... year plan. —
(A) First

(B) Second

(C) Third

(D) Fourth

. Fill in the blanks. 10xY2 =5

India is separated from Srilanka by ........ccccveniniiinnnnnnninnne A———

o T o SO s river flows through a rift valley.

- The Ramganga project is in the State of ..........cccovrevnvriiinnnnincnenne, .

The first cement factory in India was built in the year .............cccoeeeiiini _

The présent BB 1. GOVEIrNOr-is ..ci....icivmevimemrmeimmesossnmssainsssioeses

Green Revolution started from the year ............cc.ccooovnenen.

Examples of socialist economic system are ..........ccccooeeveiiirinnninen.

T.V. and Computers tome under ...........cc.cocrvevenisureneesionibisf CLOL.

Now, Sare in the ..o Five Year Plan period.
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III. Match the following by writing the letter of the correct answer in the |

)

21.

22,

23.

24.

25.

(ii)

26.

27.

28.

29.

30.

brackets choosing from the Group - B.

Group - A

Back-waters
Green channel
Dilwara temple
Populati.on (2001)

National Forest Policy

Group - A

Centralised Planning
Apti-poverty programmes
Garibi Hatao
Intermediate Goods

Organised sector

| F—
-
[isna]
—_—
[eenene]

(A)
(B)
©)
(D)
(E)
(F)
(¢e))
(H)

Group - B

(A)
(B)
(©)
(D)
(E)
(F)

(&)
(H)

5x1/2 =24

Group - B

Cochin

Mount Abu

102.7 crores

1952

1950

Varanasi

Indian Postal Service

Kerala

oxie =2Y5

The Fourth Five Year Plan:

The Second Five Year Plan.

Machine tools &

Automobiles.

Plastics and Petroleum
products.

T.V. and Computers.
Mixed Economic System.
Socialist Economic System.

R.WP, SFDA, MEAL.
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